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Mean = 2080.3 +- 83.8 ppb
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Maindet weighted mean, self pull - Lagrange Apv

Maindet weighted mean, self pul

Entries 2

Mean -0.04321+ 0.631

Std Dev  0.8923 + 0.4462

Underflow 0

Overflow 0

Pull
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Self weighted pull - Lagrange Apv

Self weighted pull

Entries 2

Mean -0.04321+ 0.631

Std Dev  0.8923 + 0.4462

Underflow 0

Overflow 0

Pull
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Maindet weighted pull - Lagrange Apv

Maindet weighted pull

Entries 2

Mean -0.04321+ 0.631

Std Dev  0.8923 + 0.4462

Underflow 0

Overflow 0

Pull




Lagrange Apv (ppb)
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Equally weighted pull - Lagrange Apv

Equally weighted pull

Entries 2

Mean —2.759e-06 * 0.6317

Std Dev 0.8934 + 0.4467

Underflow 0

Overflow 0
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